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Math 2 — Honors

Unit 5 —Triangles & Similarity
éevnew for QuIZ
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> Fill in the blank correctly.

0
1. Supplementary angles always have a sum of \%(\

v

Vertical angles are always

O
Complementary angles always have a sum of qo

2

3

4. Linear pairs are always 5&)99\( MmeotroNy . = \XOD

5. Angles that share a eommon side without overla:pi’ng are l\f\eo { m\ ( S5
) L {

7

8

9

Equiangular triangles must also be €q U\\Q-\-&(a\
A triangle whose angles have measures less than 90° is GUA 6
A triangle whose sides have different measures for each is _ica !&n@
Double the IT\|d 569 me e length to find the length of the third side of a triangle.
10. The exterior angle of a triangle is equal to SV Of (exnaie, nexiof fiae 13

» For problems 11 — 15 use the figure to the right.

11. Name the alternate interior angle to £4. L 5 - 1 _Z_V
12. Name the alternate exterior angle to £7. L 3 e
13. Name the same side interior angle to £6. A Ll B 5 - 6’ ;
14. Name the vertical angle to £2. LY ) 7/8
15. Name three angles that are supplementary to Z3. L \ L q L 5 g
> For problems 16 — 24, complete each statement with ALWAYS (A), SOMETIMES (S) or NEVER (N).
16. An isosceles triangle H ‘ V\ﬂ\ls has exactly two congruent sides.
17. If two parallel lines are cut by a transversal, corresponding angles are OO \4 ) congruent.
18. The vertex angle of an isosceles triangle is NP \J € ( located between the base and a leg.
19. An obtuse triangle may 200 ermnes be scalene.
20. Equilateral triangles may kﬁNé\Je { be obtuse.
21. An obtuse triangle (\le \&( has two obtuse angles.
22. The hypotenuse of a right triangle is ()J,UN]}M the longest side.
23 Itis NQ, \‘Q( possible for a triangle to be both right and equilateral.
24. An equilateral triangle is Q\\/\ﬂ\lj equiangular.

20



HERBIFYR iR

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

39,

36.

37.

38.

39.

40.

41.

42.

43

44.

45.

For problems 25 - 34, line a and line b are parallel.

mo2 = 60° mL6 = l@iﬁo*(.
ms4 = 75 moe = 19 AWM,
m<5 = 100°,ms3 = M AR,
m<8 = 50°, me7= |30° |indoy fond
mo4 = 50, me3 = 130° i U

ms3 = 60°, m/6 = MCOO?«U‘\'NQ
mo1 = 1252, me7 = 135> P Exx,

ms2 = 729, mes = |0 0T

x+l0 * 3x-35

aX t5<

’sz 3%

g=X

e =A\0

- <
i y-20=170
ms3 = 2x+ 10, ms8 = 5x — 40, x = 30 g"*\b'ﬁ‘y o \W ‘}

ms2 = 2x+ 10, m~s8

3x — 35,x

45

For problems 35 - 45, answer True or Falseif a || bandc || d .

Corresponding /s are =. /\(“ e

Z£4 and Z13 are corr. Zs. %\3@
23= 21000
/1= 415’“\)@

6= 7 SV

215 and £16 supp \{ Y&

£8= /9 (ﬂl)ﬂj

Z4 ,,14{(\)6

214 = 212X \\‘Q'

/1 and /11 are vertical angles.\f (&J}&v
A4l =218 /\\Q‘b

A\



Solve for x.

9)

Find the missing length indicated.

13) Find LN
M
AxyY = X+ y
E B '&'q _y
/ x+2 \A -
/ =)
L x+10 g
\L
15) Find SR
f : R "r'"7D

C/Z.LU__&\
x+19
10 i

26a10)- X129

A
s

16) Find vw
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Math 2 - Honors

Unit 5 —Triangles & Similarity g:tn;e | Pd
ﬂ!esson 4 Midsegment Theorem HOMEWORK
In each triangle, M, N, angd p are the midpoints of the sides. Name a segment parallel to the one given.
D 2) s
N P
R M 0

o || eN __ligs

Find the missing length indicated.

3) Find CD 4) Find AC
» 4
z — D H Y
(9

5) Find XJ

K, B
A
s 10
5
; J?R ' I
18
C

7) Find DF

9

I




Classwork:

Find the values of the variables. Figures are not drawn to scale.

2x + 16

'l
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Math 2 —Honors
Unit 5 - Triangles & Similarity

sson 3 - Triangle Theorems HOMEWORK

Name

Date

Pd

1) Find the value of x:

45°

1'5( x°

2) Find the values of x and y:

5x—6

3) Find the values of x and y:

150 -6l ~00

¢ y-u8°

>
s x~00°

4)  Find the values of x and y:

4x

60° A

% i
¢ Y=00°  x-1p

5) Find the values of x and y:

Equilateral Triangle

g\j =0
L
i—
0
- %30

6) Find the values of x and y:

Equilateral Triangle

(2=X

7) Find x,y and z:

2
I
3
Q.
R
<
Q
3
a
0
<

\2
2
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{SH4 XA 71‘— ‘30

Solve for x
,3 /

10) \\55" (x '+'74')~’/
g /

- 13)

e 28/3

12)

\ 27°
(9x + 7)°=Q,

)
N

Gy =74

Solve for x and then find the measure of £A.
14) (x +59)° .ﬁ

FH%X*S\foSq

‘;}x:‘l")
X:-j

15)

(8x +2)°

/Uy N1t Xt 232050
Sx+|20ZR0




